Kaprouka W 1

l-BapuaHT
BcTaBp HYyXHOE UMCJIIO:
8 = 18 . 8 =3 w 8 =29
8 = 16 - 8 = 24 8 - = 64
8 5 8 =7 4 = 8

Kaprouka N 2

l-BapmaHT
Peun npuMeperr:
72 9 g8 - 8 40 : 8
16 : 8 64 : 8 48 : 8
32 : 8 24 : 8 8 - 2
24 : 3 8 - 3 8 - 6
Kaprouxka N 3
l-BapMaHT
CpapHU
72 8 * 2 - 8 48 : 8 * 56 : 8
g =+ 8 *5 -8 56 ¢ 7 * 48 : 6
64 8 * 16 : 2 40 : 8 * 32 : 4

Kaprouka N 4
l-BapmaHT
Peun ypaBHEHMUS:
X - 8 =72 56 : x = 8 X : 8 =6

Kaprouka N 1

2-BapMaHT
BcTaBb HYXHOE UMCJIIO:
.. + 8 =28 . 1 8=23 .. 1 8 =0
8 - .. =16 .. + 8 =40 8 - .. =48
- 8 = 32 56 : .. = 8 64 : .. =8

Kaprouxka N 2

2-BapMaHT
Peun npuMeperr:
72 9 8 - 8 40 : 5
l6 : 2 48 : 6 48 : 8
56 : 8 56 : 7 7 - 8
49 : 7 8 -+ 9 5 - 8
Kaprouxka N 3
2-BapMaHT
CpaBHU
40 : 8 * 8 - 2 32 : 8 * 56 : 8
g - 7 * 7 -8 64 : 8 * 16 : 2
24 8 * 24 : 3 3 -8 * 48 : 8

Kaprouka N 4
2-BapMaHT
Peun ypapHeHUA:

X - 8 = 56 72 x = 8 x : 8 =4








